Diszkrét eloszlasok

Nevezetes eloszlasok

Név Eloszlas EX DX
Bernoulli P(X=0)=1-p
X ~1(p) P(X =1)=p p Pl =p)
Binomialis N (Mo ek _ —
Poisson Lk -
X ~ Poi()) P(X =k) =2 k=0,1,2,... A VA
Geometriai b1 1 T

— — _ —1.92 1 P
X ~ GGO(p) P<X k) p<1 p) k )< P D
Negativ binomialis _(k=1\.m(q _ - Nk-m B m =5
X ~ NB1n<m’p) P<X - k) - (mfl)p (1 p) k - m7m+17 e p \/m P
Diszkrét egyenletes gy 1 - ntl 1
X ~ DE(n) P(X=k)=— kE=1,2,...,n 5 >
Hipergeometrikus
X ~ HGeo(N, M,n) o (HeEn _ M N-M [nM
n<N-—M)
Folytonos eloszlasok
Név Striségtiiggvény EX DX
Egyenletes atb b—a
X ~ U(a,b) J@) =55 aswsh T
Béta

I'(a+b) a— — a ab

X ~ B(a,b) flx) = é)?(ﬁ)l’ (=)t O<z=l a+b (a+b)2(atb+1)
(a,b>0)
Exponencialis Y 1 1

= @ > 1 1
X ~ Exp()) f(x) = Xe x>0 X 5
Gamma Angn—le—Az n \/ﬁ
X ~T(n, ) J() = e — 720 i <
Normalis N CEL
X ~ N(/L, O') f(x) - 271'06 207 K g
Pareto kA AVE
X ~ Par(A, k) fz) = £AS x> A k=1 (h=1)vF=2
(A>0,k>0) (ha k>1) (ha k>2)
Cauchy 11 nem .
X ~C f(2) = s lotegik | R létezik

I(a)= [ a* e ™dz (o> 0)
neZ" = TI'(n)=(n—1)!




